Приложение 1

Тест

Вариант- 1

1. Упростите выражение:
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2. Упростите выражение:       
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3. Упростите выражение:    
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4. Вычислите:        
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          А. 162;  Б. -162;  В.-24;  Г.24   

5. Используя свойства степени вычислите:       
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          А. 9;  Б. 27;  В. 81;  Г. 3     

6. Вычислите:     
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     7.  Приведите одночлен 
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 к стандартному виду.
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Вариант – 2

1. Упростите выражение:
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2. Упростите выражение:
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     3. Упростите выражение:
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     4. Вычислите:     
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А. 96;  Б. -30;  В.30;  Г.-96   

     5. Используя свойства степени вычислите:       
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          А. 5;  Б. 25;  В. 625;  Г. 125     

     6. Вычислите:     
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     7. Приведите одночлен 
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Вариант №3

1. Упростите выражение:
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2. Упростите выражение:
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     3. Упростите выражение:
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     4. Вычислите:     
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А. -24;  Б. -128;  В. 24;  Г. 128   

     5. Используя свойства степени вычислите:       
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          А. 49;  Б. 343;  В. 7;  Г. 14     

     6. Вычислите:     
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     7. Приведите одночлен 
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Вариант №4

1. Упростите выражение:
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2. Упростите выражение:
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     3. Упростите выражение:
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     4. Вычислите:     
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А. 50;  Б. 20;  В. -50;  Г. -20   

     5. Используя свойства степени вычислите:       
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          А. 8;  Б. 6;  В. 4;  Г. 64     

     6. Вычислите:     
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     7. Приведите одночлен 
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